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Date: 23.05.2020

DAILY BASIS ASSIGNMENT 30

Class: VII

Day: SATURDAY

Subject : English

Subject : English

Cross the word which shows a negative attitude in the following group of words:

1.

SUBJECT - PHYSICS

MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION)

a) humble
b) arrogant
c) reliable

d) courteous
a) loyal

b) generous
c) learned

d) boastful
a) graceful
b) meticulous
c) conceited
d) unique

a) jovial

b) graceful
c) famous

d) haughty
a) patriotic
b) devoted
c) notorious
d) efficient

1.Find the speed when distance is hundred kilometre and time 2 hours .

a) 60 kilometre per hour b) 58 kilometre per hour

¢) 90 kilometre per hour d) 55 kilometre per hour

2.A car covers 360 kilometre in 24 hour. Find the speed of the car in metre per second.



a)4.166m/s b)41.66m/s c)40m/s d)25m/s

3. Find the distance covered by a bus moving with a speed of 60 kilometre per hour in
10 hour.

a) 580 kilometre b)600 kilometre c¢) 650 kilometre d) 700 kilometre

4. Find the distance covered by a cyclist moving with a speed of 2 metre per second in 2

hour.

a) 14400 m b) 15000m c¢)1440m d)18000m

5. Aayush is running with a speed of 5 metre per second. Find out the time taken by
Aayush to complete a distance of hundred metre.

a)l0s b)20s ¢)25s. d)30s

SUBJECT : CHEMISTRY

MULTIPLE CHOICE QUESTION (SELECT THE RIGHT OPTION)

1.
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Which of the following is added to the factory wastes to neutralise them before
they are discharged into the water bodies?

Slaked lime

Magnesium hydroxide

Hydrochloric acid

All of the above

Quick lime is known as
Magnesium hydroxide
Calcium oxide

Sodium hydroxide
Sulphuric acid

Slaked lime is known as
Magnesium hydroxide
Calcium hydroxide
Sodium hydroxide
Sulphuric acid

Plant grow bestin ___ soil.
Too acidic

Too basic

Neutral

All of the above



_____is found in tea.
Ascorbic acid
Citric acid

Tannic acid

Oxalic acid

BT ;

SUBJECT-- BIOLOGY
Multiple Choice Questions
1. The coloured leaf of Bougenvellia also capable to synthesise food by
a) Symbiotic mode
b) saprophytic mode
c) Photosynthesis
d) Parasitic mode

2. Chameleon catches their food using
a) Fairly long tongue
b) Its long tail
¢) Mouth
d) Legs
3. The fungus plant absorbs the water and minerals to support algae is a
a) Parasitic relation
b) Symbiotic relation
c) Saprophytic relation
d) Autotrophic relation
4. The Rhizobium bacteria functions symbiotically with legumes plant to provide
a) Nitrates
b) water
c) Phosphate
d) All of the above
5. The food obtained from plants are used eventually by
a) Animals
b) Human beings
c) Non food producing plants
d) All of the above

SUBJECT-SST



Q. Multiple choice questions

. Communicable disease are spread through

. Water

. Food

Air

.All of these

JIn 1996 the government passed some major changes regarding health in
. Maharashtra

. Kerala

. Andhra Pradesh

. Haryana

. Which of these is not a dimension of health?

. Physical health

. Social health

. Primary health

. Mental health

.The Government has established a __ medical system
.three

.two

c .four

d. six

5. Who was the head of the health survey and development committee of 1943?
a . Sir Richie Richardson

b . Sir Joseph bhore

c¢.Bothaandb

d .All of these

T RO T O WO TR NG DTR -

SUBJECT -COMPUTER
Revision of chapter-1&2 (3 rd Week of May)

Q. Multiple choice questions (Select the correct one):-

26. You can change the appearance of ............... and function of mouse pointer
a. mouse pointer b. Aero peak c. Both a and b d. None of these

27. You can change double click ......... of your mouse

a. Mouse setting b. Speed c. Accuracy d. None of these

28. Suddenly if your mouse stops working there is nothing to worry as ............... has a feature to

help you
out of this problem
a. Mouse b. Control panel c. Windows d. None of these

29, is divided into three parts



a. MICR b. Printer ¢c. CPU d. None of these
30. Processing unit is commonly known as ..............

a. CPU b. ATMs c. MICR d. None of these



DBA- std-7 Sub- maths date- 23.5.2020

1) The conversion of 14.25km in mm is

2)

3)

4)

5)

a) 1.425mm b) 142.5mm c) 14250mm d) 14250000mm
Multiplying 11.456 by 0.001 we get
a) 1145.6 b) 0.011456 c) 0.0156 d) 0.01456
Which of the following is not a rational number?
a) 2.1b)0.1515....c)-2/-5d) 2.010010001.....
The product of a rational number and its reciprocal is
a) Ob) 1c)-1d)2
Subtracting -3/4 from -2/3 , we get
a) 1/12b)5/12c)7/12 d)-1/12
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